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1. VWNANUY (Mandrel) HINAATIVAEN N9 (@) x 813 (d) =

150 x 50 NN., 150 x 150 4.
a a =) | % % a a a =)

2. VMIAYeIRITEAT UIvenman s SNk uaen
=
g =23

3. aanauaudszansmsaduldvesduluusnatiudens
aadnilszansmsaulavesdiunsanw (k/k, ) = 0.001, 0.01, 0.1, 0.2, 0.5,
1.0

4. FTELHIITHIWOU (S) = 1,2, 3 INAST
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' s3 o v ¥ o4 = Hq va I 1
M9 N.1 mmJElil,Gmmm‘mﬂmizmammaﬂ(U) ﬂiﬂ!LL'LI'LI'V]GI,"]W]ﬂ@ﬂllﬂﬂﬂ?\ﬁ%ﬂ?ﬂﬂW
0o a Aa 1 Y a t4
duFogiumna 1500w, x 500w, VIAUTHUANTeTUWBNAI8A L TIEE Y p=2 guduoauny

2 Y Y o ¥ A Y
NWILVWWUIH AU 1.00 U, UUIAAUDUNITEUIIUINAIINNIG 1000, U1 4 V.

danau aala. msduldvesdnluuSnaAndeed ()
flsznou <
a.1la. msduldvesiunsamn (£,)
1981 (T)

ko lk, =1 | k. /k,=05 | k /k,=02 | k /k,=01 | k /k =001 |k /k, =0.001
0.001 1.09 0.72 0.40 0.24 0.05 0.03
0.002 1.72 1.12 0.64 041 0.07 0.03
0.003 2.26 1.47 0.83 0.54 0.10 0.03
0.004 2,76 1.79 0.99 0.65 0.12 0.03
0.005 322 2.09 1.15 0.75 0.14 0.04
0.006 3.66 2.38 1.30 0.84 0.17 0.04
0.007 4.08 2.66 1.44 0.92 0.19 0.04
0.008 4.49 2.94 1.58 1.00 0.21 0.04
0.009 4.89 3.21 1.72 1.08 0.23 0.05
0.010 5.28 348 1.86 1.16 0.25 0.05
0.020 8.84 5.96 3.16 1.90 0.42 0.07
0.030 12.06 8.27 4.41 2.60 0.55 0.10
0.040 15.08 10.48 5.63 3.30 0.66 0.12
0.050 17.96 12.61 6.82 399 0.76 0.14
0.060 20.73 14.67 7.99 4.67 0.85 0.17
0.070 23.40 16.68 9.14 5.34 0.93 0.19
0.080 25.97 18.64 10.28 6.01 1.02 0.21
0.090 28.45 20.56 11.40 6.67 1.10 0.23
0.100 30.85 2242 12.51 7.33 1.18 0.25
0.200 50.82 38.84 22.86 13.66 1.97 0.42
0.300 65.02 51.78 31.98 19.56 2.75 0.55
0.400 75.13 61.98 40.03 25.06 3.52 0.66
0.500 82.31 70.02 47.12 30.18 4.29 0.76
0.600 87.42 76.37 53.37 34.95 5.05 0.85
0.700 91.05 81.37 58.89 39.39 5.80 0.94
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4 damnau aila, msdnldvesdvluSnaidudead (x)
dlsznou —
a.1l.a. msvldvesdunsamn (k)
a1 (T)
k ik =1 k ik =05 | Kk (k=02 | k k=00 | k /k =001 |k /k =0.001
0.800 93.64 8531 63.75 43.53 6.55 1.02
0.900 95.47 88.42 68.04 47.39 7.30 1.10
1.000 96.78 90.87 71.82 50.98 8.04 1.18
2.000 99.89 99.15 91.99 75.85 15.10 1.98
3.000 100.00 99.92 97.73 88.10 21.61 2.77
4.000 100.00 99.99 99.35 94.13 27.63 3.55
5.000 100.00 100.00 99.82 97.11 33.19 433
6.000 100.00 100.00 99.95 98.58 38.32 5.10
7.000 100.00 100.00 99.99 99.30 43.05 5.87
8.000 100.00 100.00 100.00 99,65 47.42 6.63
9.000 100.00 100.00 100.00 99.83 51.46 7.38
10.000 100.00 100.00 100.00 9992 55.19 8.12
I G
l — 11‘1
dmrvq
C, = Fuilszantmasadasz eI
28 Lo
d('f_‘( = :
., ]T ..\'
, . ¥ I%mmmw
S= 2UzHINTENINIOLNIITZLN0
(= 1
a, d=VUIAVDIUIVD (Mandrel)
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' s3 o v 3 A _ = Hq va 3 1
M9 0.2 AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUVIWQﬁ%UWﬂu1
0o a a 1 @ a 4
duFogiumna 1500w, x 500w, vinAUFHUANTeATUWBNAeA L TIEE Y p=2 guduoauny

2 Y Y o ¥ A Y
NWILUWWUIH AU 2.00 U, UHUIAALUDUNIETEUIIUINAIINNIG 1000, U1 4 V.

danau ail.a. msduldvesdvlvuSnaAndead (k)
flszneu -
a.1la. msanldvesduasann (k)
121 (T)

kotk,=1 | Kk 1k,=05 | k k=02 | k k=01 | k /k,=0.01 |k /k, =0.001
0.001 0.67 0.44 0.24 0.16 0.03 0.01
0.002 1.11 0.72 0.39 0.25 0.05 0.01
0.003 1.49 0.99 0.53 0.33 0.07 0.01
0.004 1.85 1.24 0.66 0.40 0.09 0.02
0.005 2.20 1.48 0.79 0.47 0.10 0.02
0.006 2.53 1.72 0.91 0.54 0.12 0.02
0.007 2.85 1.95 1.04 0.61 0.13 0.02
0.008 3.16 2.17 1.16 0.68 0.14 0.03
0.009 3.46 2,39 1.28 0.75 0.15 0.03
0.010 3.76 261 1.40 0.82 0.16 0.03
0.020 6.54 4.68 2.57 1.50 0.25 0.05
0.030 9.10 6.62 3.70 2.16 0.33 0.07
0.040 11.53 8.48 4.80 2.82 0.41 0.09
0.050 13.87 10.29 5.88 3.46 0.49 0.11
0.060 16.13 12.05 6.94 4.10 0.57 0.12
0.070 18.33 13.78 7.99 4.74 0.65 0.13
0.080 20.46 15.46 9.03 5.37 0.73 0.14
0.090 22.54 17.12 10.05 6.00 0.80 0.16
0.100 24.56 18.74 11.06 6.62 0.88 0.17
0.200 42.10 33.29 20.58 12.62 1.66 0.25
0.300 55.55 4524 29.08 18.23 2.43 0.34
0.400 65.88 55.04 36.67 23.48 3.20 0.42
0.500 73.81 63.09 43.44 28.39 3.96 0.50
0.600 79.90 69.70 49.49 32.99 471 0.58
0.700 84.57 75.13 54.90 37.29 5.46 0.66
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[v) 1 = 4 a =Y a A a
. oanau a.il.a. maduldvesduluudnafndead (k)
aalszney —
a.i.a. msduldvesdunsann (k)
1781 (T)
k 1k, =1 k k=05 | &k (k=02 | k /k,=01 | k /k =001 |k /k =0.001
0.800 88.16 79.58 59.72 4132 6.20 0.74
0.900 90.91 83.24 64.03 45.09 6.94 0.81
1.000 93.02 86.24 67.88 48.61 7.67 0.89
2.000 99.50 98.09 89.64 73.54 14.66 1.69
3.000 99.96 99.73 96.66 86.37 21.13 2.47
4.000 100.00 99.96 98.92 92.98 27.10 3.25
5.000 100.00 99.99 99.65 96.39 32.63 4.03
6.000 100.00 100.00 99.89 98.14 37.73 4.79
7.000 100.00 100.00 99.96 99.04 42 45 5.56
8.000 100.00 100.00 99.99 99.51 46.81 6.31
9.000 100.00 100.00 100.00 99.75 50.84 7.06
10.000 100.00 100.00 100.00 99.87 54.56 7.80
e
(j-a’q
C, = dutlszantnissadiszmimumi
28
dc'eq X
NS 3 >
: \ 3 H(atif-1)d)
S= FTOLWINIZHINIAUNNTZLIN I
r= 1M
a, d= VWMV IIDUY (Mandrel)
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' s3 o v 3 A _ = Hq va 3 1
M N3 AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUWTQ§$U18U1
0o a a 1 Y a t4
duFogiumna 1500w, x 500w, vinAUsHUANTeATUWBNA8AILTIEE Y p=2 guduouny

2 Y Y o ¥ A Y
NWILUWWUIH AU 3.00 U, UUIAALUDUNIETEUIIUINAIINNIG 1000, U1 4 V.

s al.a. maduldvesduluusnaiydeaa )
fmilsznoau :
a1l msduldvesdunsaam (%,)
a1 (1)

ko ik, =1 | k /k,=05 | &k /k,=02 | k /k, =01 | k /k,=0.01 |k /k, =0.001
0.001 0.53 0.34 0.18 0.12 0.02 0.01
0.002 0.89 0.60 0.32 0.19 0.04 0.01
0.003 1.22 0.83 0.44 0.26 0.06 0.01
0.004 1.53 1.06 0.57 0.33 0.07 0.01
0.005 1.83 1.27 0.69 0.40 0.08 0.01
0.006 211 1.49 0.80 0.47 0.09 0.02
0.007 2.39 1.69 0.92 0.54 0.10 0.02
0.008 2.66 1.90 1.04 0.61 0.11 0.02
0.009 293 2.10 1.15 0.67 0.11 0.02
0.010 3.19 2.29 1.27 0.74 0.12 0.03
0.020 5.64 4.17 237 1.39 0.20 0.04
0.030 7.92 5.94 3.44 2.04 0.28 0.06
0.040 10.10 7.65 4.48 2.67 0.36 0.07
0.050 12.20 931 5.50 3.29 0.44 0.08
0.060 14.24 10.93 6.51 3.91 0.51 0.09
0.070 16.23 12.52 7.51 4.53 0.59 0.10
0.080 18.17 14.08 8.49 5.14 0.67 0.11
0.090 20.06 1561 9.47 5.75 0.75 0.11
0.100 21.91 17.11 10.43 6.35 0.83 0.12
0.200 38.18 30.73 19.52 12.17 1.60 0.20
0.300 51.06 42.11 27.69 17.63 237 0.28
0.400 61.26 51.63 35.03 22.75 3.13 0.36
0.500 69.33 59.57 41.62 27.55 3.89 0.44
0.600 75.72 66.22 47.54 32.05 4.64 0.52
0.700 80.78 71.77 52.86 36.27 5.38 0.60
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M54 1.3 (A0)

[¥] J = a = = = =
d dadu .o maduldvesduluusnafinaead (k,)
Mlsznou -
a.al.a. msxuldvesdunsanmn (k)
121 (T)
k 1k, =1 ko 1k,=05 | k. o/k=02 | Kk /k, =01 | k. /k, =001 |k /k =0.001
0.800 84,78 76.41 57.65 40.23 6.12 0.68
0.900 87.95 80.28 61.94 43.95 6.85 0.76
1.000 90.46 83.52 65.81 47.43 7.58 0.84
2.000 99.08 97.26 88.27 72.32 14.55 1.63
3.000 99.91 99.55 95.98 85.43 20.99 242
4,000 99.99 99.92 98.62 92.33 26.94 3.20
5.000 100.00 99.99 99.53 95.96 3245 3.97
6.000 100.00 100.00 99.84 97.87 37.54 4.74
7.000 100.00 100.00 99.94 98.88 4225 5.50
8.000 100.00 100.00 99.98 99,41 46.60 6.25
9.000 100.00 100.00 99.99 99.69 50.63 7.00
10.000 100.00 100.00 100.00 99.84 5435 7.74
T — (V‘hf {
dzn’q
C, = FinlszantmasadlszeiauInITIY
28 $-1fs
d., = = :
q \/;
f ' 3 : Yifat(p-1)d)
S= 32ezH19TEHNAUNITZeNN HhdH I
t= 1301 pd
a,d=VUIAVDAUIVY (Mandrel)
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' s3 o v 3 A _ = Hq va 3 1
M N4 AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUWTQ§$U18U1
0o a a 1 Y a t4
duFogiumna 1500w, x 500w, vinAUsHUANTeTUWeNA8AILTIEE Y p=3 guduouny

2 Y Y o ¥ A Y
NWILVWWUIH AU 1.00 U, UUIAAUDUNITEUIIUINAIINNIG 1000, U1 4 V.

danam ail.a. msduldvesdvluuSnainaoad k)
fmilsznau -
a.il.a. msauldvesdunsamn (%)
1781 (T)

kook,o=1 | k k=05 | k /k,=02 | k /k,=01 | k /k =001 |k /k =0.001
0.001 1.09 0.71 0.40 0.25 0.03 0.01
0.002 1.72 1.10 0.63 0.41 0.06 0.01
0.003 2.26 1.44 0.81 0.53 0.09 0.01
0.004 2.76 1.74 0.97 0.64 0.12 0.02
0.005 3.22 2.02 111 0.73 0.15 0.02
0.006 3.66 2.29 1.25 0.81 0.17 0.02
0.007 4.08 2.55 1.38 0.89 0.20 0.03
0.008 4.49 2.81 1.50 0.97 0.22 0.03
0.009 4.89 3.06 1.62 1.04 0.24 0.03
0.010 5.28 3.30 1.74 1.11 0.26 0.04
0.020 8.84 5.60 2.87 1.75 0.42 0.07
0.030 12.06 7.73 3.93 233 0.54 0.09
0.040 15.08 9.78 4.96 2.90 0.64 0.12
0.050 17.96 11.75 5.98 3.47 0.73 0.15
0.060 20.73 13.68 6.98 4.02 0.81 0.17
0.070 23.40 15.55 7.97 457 0.89 0.20
0.080 25.97 17.39 8.94 5.12 0.97 0.22
0.090 28.45 19.18 9.91 5.66 1.04 0.24
0.100 30.85 20.93 10.86 621 1.11 0.26
0.200 50.82 36.48 19.86 11.44 1.75 0.42
0.300 65.02 48.98 27.95 16.38 2.37 0.54
0.400 75.13 59.01 35.23 21.05 2.97 0.64
0.500 82.31 67.08 41.76 25.46 3.57 0.73
0.600 87.42 73.55 47.64 29.62 4.16 0.81
0.700 91.05 78.76 52.93 33.55 4.76 0.89
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o 1 = v =) = a A =
y dnsdm aala. msduldvesduluuSnafdydead )
Mmsznon -
a.l.a. msaulavesavasanmn (k)
1981 (T)
k, [k, =1 [k,=05 | k. k=02 | k k=00 | k. /k, =001 | k. [k, =0.001

0.800 93.64 82.93 57.68 37.26 5.35 0.97
0.900 95.47 86.29 61.95 40.76 5.93 1.04
1.000 96.78 88.99 65.79 44.07 6.51 1.11
2.000 99.89 98.77 88.20 68.51 12.13 1.76
3.000 100.00 99.86 9593 82.27 17.41 2.37
4.000 100.00 99.98 98.60 90.02 2237 2.98
5.000 100.00 100.00 99.52 94,38 27.03 3.58
6.000 100.00 100.00 99.83 96.83 31.42 4.18
7.000 100.00 100.00 99.94 98.22 35.54 4.78
8.000 100.00 100.00 99.98 99.00 39.41 537
9.000 100.00 100.00 99.99 99.44 43,05 5.96
10.000 100.00 100.00 100.00 99.68 46.48 6.55

7= (‘hf i

d-('('(} I 'g/2 I
C, = dulszantmssadisy e
28 L-1fi i
(](_‘,( =
' " H Yifat(p-1)d)
S= FEHZHNTEHINUWDUNITZUIEUT i I
t= 1
a, d= VUIAUDIIVY (Mandrel)
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' s3 o v 3 A _ = Hq va 3 1
M3 NS AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUVITQi%UTﬂU1
0o a a 1 Y a t4
duFogiumna 1500w, x 500w, vinAUsHUANTeTUWeNA8AILTIEE Y p=3 guduouny

2 Y Y o 3 A Y
NWILUWWUIH AU 2.00 U, UUIAALUDUNITEUIYUINAIINNIG 1000, U1 4 V.

danau adl.a. msduldvesduluySnadnaead «)
milsznou -
a.il.a. maduldvesdunsanmmn (%,)
1981 (T)

koko=1 | k k=05 | k /k,=02 | k k=010 | k /k =001 |k /k =0.001
0.001 0.67 0.42 0.24 0.16 0.03 0.00
0.002 111 0.69 037 0.24 0.05 0.01
0.003 1.49 0.94 0.49 0.31 0.07 0.01
0.004 1.85 1.17 0.60 0.37 0.09 0.01
0.005 2.20 1.39 0.71 0.43 0.10 0.02
0.006 253 1.61 0.82 0.49 0.12 0.02
0.007 2.85 1.82 0.93 0.55 0.13 0.02
0.008 3.16 2.03 1.03 0.61 0.14 0.03
0.009 3.46 223 1.13 0.67 0.15 0.03
0.010 3.76 2.44 1.24 0.72 0.16 0.03
0.020 6.54 436 2.24 1.28 0.24 0.05
0.030 9.10 6.17 3.20 1.82 0.31 0.07
0.040 11.53 7.91 4.14 2.36 0.38 0.09
0.050 13.87 9.61 5.08 2.89 0.44 0.10
0.060 16.13 11.27 5.99 341 0.50 0.12
0.070 18.33 12.89 6.90 3.94 0.56 0.13
0.080 20.46 14.48 7.80 4.46 0.62 0.14
0.090 22.54 16.04 8.69 497 0.68 0.15
0.100 24.56 17.57 9.57 5.49 0.74 0.16
0.200 42.10 31.42 17.92 10.48 1.35 0.24
0.300 55.55 42.95 25.49 15.20 1.94 0.31
0.400 65.88 52.53 32,37 19.68 2.54 0.38
0.500 73.81 60.51 38.61 23.92 313 0.44
0.600 79.90 67.14 4427 27.94 3.72 0.50
0.700 84.57 72.67 49.42 31.74 431 0.56
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M54 0.5 (A0)

[ 1 = v a = a o =
. oanau al.a. madnldvesdulunSnafnaean (k)
anlszneu —
a.1la. madldvesdunsann (k)
1781 (T)
k, 1k, =1 ko lk,=05 | &k, /k,=02 | Kk /k,=00 | k /k,=0.01 |k /k, =0.001
0.800 88.16 77.26 54.08 35.34 4.89 0.62
0.900 90.91 81.08 58.32 38.76 5.46 0.69
1.000 93.02 84.26 62.17 41.99 6.04 0.75
2.000 99.50 97.50 85.63 66.27 11.59 1.36
3.000 99.96 99.60 94 .54 80.39 16.82 1.96
4.000 100.00 99.94 97.93 88.60 21.73 2.57
5.000 100.00 99.99 99.21 93.37 26.36 3.17
6.000 100.00 100.00 99.70 96.15 30.71 3.76
7.000 100.00 100.00 99.89 97.76 34.80 4.35
8.000 100.00 100.00 99.96 98.70 38.66 4.94
9.000 100.00 100.00 99.98 99.24 42.28 5.53
10.000 100.00 100.00 99.99 99.56 45.69 6.11
T: (‘h{ i
“ceq
5 Fu1)azantnsonaTe eI uILI
28 Vi if
ceq \/;
. . ¥ Yi(at(@-1)d)
S= STOZMNTEHINIAUNITZLNU I
t= 1981 pd
a.d= UYUIAVDIIV (Mandrel)
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' s3 o v 3 A _ = Hq va 3 1
M9 1.6 AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUVITQi%UTﬂUW
0o a a 1 Y a t4
duFogiumna 1500w, x 500w, vinAUsHUANTeATUWeNA8A L TIEE Y p=3 guduouay

2 Y Y o ¥ A Y
NWILUWWUIH AU 3.00 U, UUIAALUDUNIETEUIIUINAIINNIG 1000, U1 4 V.

dnseu a.ala. msduldvesduluuSnafydend )
flsznou -
ail.a. m3duldvesdnasammn (&)
1381 (T)

k,lk,=1 k,/k,=0.5 k, k=02 ko k=01 | k /k,=001 |k /k, =0.001
0.001 0.53 0.33 0.175 0.112 0.03 0.00
0.002 0.89 0.56 0.289 0.18 0.04 0.01
0.003 1.22 0.78 0.397 0.24 0.06 0.01
0.004 1.53 0.99 0.501 0.29 0.07 0.01
0.005 1.83 1.19 0.604 0.35 0.08 0.01
0.006 2.11 1.38 0.705 0.41 0.08 0.02
0.007 2.39 1.58 0.805 0.46 0.09 0.02
0.008 2.66 1.77 0.903 0.52 0.10 0.02
0.009 293 1.95 1.002 0.57 0.11 0.02
0.010 3.19 2.14 1.099 0.63 0.12 0.03
0.020 5.64 3.89 2.047 1.16 0.18 0.04
0.030 7.92 5.56 2.967 1.69 0.24 0.06
0.040 10.10 7.16 3.868 2.21 0.30 0.07
0.050 12.20 8.73 4.757 2.73 0.36 0.08
0.060 14.24 10.26 5.634 3.24 0.42 0.08
0.070 16.23 11.76 6.502 3.75 0.48 0.09
0.080 18.17 13.24 7.362 4.26 0.54 0.10
0.090 20.06 14.69 8.213 476 0.60 0.11
0.100 21.91 16.11 9.055 5.26 0.67 0.12
0.200 38.18 29.11 17.067 10.12 1.27 0.18
0.300 51.06 40.09 24372 14.74 1.86 0.24
0.400 61.26 49.37 31.033 19.12 2.45 0.30
0.500 69.33 57.22 37.108 23.27 3.04 0.37
0.600 75.72 63.84 42648 2721 3.63 0.43
0.700 80.78 69.44 47.70 30.94 421 0.49
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a ] = a a a A a
d oanaau aala. maduldvesduluuinainaead (k)
filsznou - -
a.1l.a. madaldvesdunsamn (k)
a1 (T)
k. lk, =1 ko rk,=05 | k. sk, =02 | Kk sk, =01 | k. /k, =001 |k /k, =0.001
0.800 84.78 74,18 5231 34.49 4.79 0.55
0.900 87.95 78.18 56.51 37.85 5.37 0.61
1.000 90.46 81.56 60.34 41.04 5.94 0.67
2.000 99.08 96.57 84.23 65.19 11.47 1.28
3.000 9991 99.36 93.73 79.45 16.67 1.89
4.000 99.99 99.88 97.51 87.87 21.57 2.49
5.000 100.00 99.98 99.01 92.84 26.18 3.09
6.000 100.00 100.00 99.61 95.77 30.52 3.68
7.000 100.00 100.00 99.84 97.50 34.61 427
8.000 100.00 100.00 99.94 98.53 38.45 4.86
9.000 100.00 100.00 99.98 99.13 42.07 544
10.000 100.00 100.00 99.99 99.49 45.48 6.02
o G
dhn'q
C, = dulszaninasadlszea1uuITIY
28 $oo-si
ceq ‘\/; y ‘
. . y Ylar(h-1)d)
S= FEEZHINTEHINUOUNIETEI0M i I
t= 1
ad= YWIAVDIUILY (Mandrel)
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. s 2 o v ¥ A _ a Aq ya & ¥
MIN N7 ﬂ%ﬂﬁ]ilﬂﬂmﬂ1§@ﬂ§]’35$lﬂﬂu1ma8 (U)ﬂiil!LL“]J‘lJ'I/Ii"]fG]ﬂG]\‘]LLﬂTJVINﬁ%UTEJu1

S Y (J

5 < a a A
ﬁ“jﬁ]gﬂ%ﬂWﬂ 15044, x 15004. "‘UHW@U?Q‘Q‘!N?L%ﬂﬂaj_mu@ﬂﬂ]ﬂ@]uﬂﬂf’fﬁll p=2 f‘f‘l«lgﬂlﬂ\i

A3

o

¥ o Y o = 9
LDUNWITVIIUINWNAU 1.00 Y. UUIOALUDUNNTEVIYUINAINUNINN 100U, U 4 V.

dnnam al.a. msduldvestulvuSnafindend )
milsznou -
a.1la. maduldvesdiunsamn (k)
1781 (T)

kotk,=1 | &k /k.=05 | k /k,=02 | k k=01 | k /k =001 |k /& =0.001
0.001 1.09 0.72 0.40 0.24 0.05 0.02
0.002 1.72 1.12 0.64 0.41 0.07 0.03
0.003 226 1.47 0.83 0.54 0.10 0.03
0.004 2,76 1.78 0.99 0.65 0.12 0.03
0.005 322 2.08 1.15 0.75 0.14 0.04
0.006 3.66 237 1.29 0.83 0.17 0.04
0.007 4.08 2.65 1.44 0.92 0.19 0.04
0.008 4.49 2.92 1.57 1.00 0.21 0.04
0.009 4.89 3.19 1.71 1.08 0.23 0.05
0.010 5.28 3.45 1.85 1.16 0.25 0.05
0.020 8.84 5.89 3.13 1.88 0.42 0.07
0.030 12.06 8.15 434 2.58 0.55 0.10
0.040 15.08 10.30 5.53 3.26 0.66 0.12
0.050 17.96 12.39 6.69 3.93 0.75 0.14
0.060 20.73 14.42 7.83 4.59 0.84 0.17
0.070 23.40 16.39 8.95 5.25 0.93 0.19
0.080 25.97 18.31 10.06 5.90 1.01 021
0.090 28.45 20.19 11.15 6.55 1.09 0.23
0.100 30.85 22.03 12.23 7.19 1.17 0.25
0.200 50.82 38.20 2234 13.37 1.95 0.42
0.300 65.02 51.02 31.28 19.14 272 0.55
0.400 75.13 61.17 39.19 24.53 3.48 0.66
0.500 82.31 69.23 46.19 29.56 423 0.76
0.600 87.42 75.61 52.39 34.25 4.98 0.85
0.700 91.05 80.67 57.87 38.63 5.72 0.93
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4 dasa aala, msaldvesdulunSnaindead (k)
filsznou y
a.1l.a. msdaldvesdunaamn (k)
a1 (T)
k. 1k, =1 k o1k =05 | Kk (k=02 | Kk /k =00 | k /k =001 |k /k =0.001
0.800 93.64 84.68 62.72 42.72 6.45 1.02
0.900 95.47 87.85 67.01 46.53 7.18 1.10
1.000 96.78 90.37 70.81 50.10 7.91 1.18
2.000 99.89 99.06 91.41 74.95 14.84 1.97
3.000 100.00 9991 97.47 87.43 21.26 2.74
4.000 100.00 99.99 99.26 93.69 27.19 3.51
5.000 100.00 100.00 99.78 96.83 32.67 4.27
6.000 100.00 100.00 99.94 98.41 37.74 5.03
7.000 100.00 100.00 99.98 99.20 42.43 5.78
8.000 100.00 100.00 99.99 99.60 46.76 6.53
9.000 100.00 100.00 100.00 99.80 50.77 7.27
10.000 100.00 100.00 100.00 99.90 54.48 8.00
=Gt !
dlaq
C, = futlsz ANEnIeadIs LA NI
28 Tt}
ceq \/; ’x
\ . z I%(MHMJ
S= FLUZHINTENINNOUNIITLLN0N 3
t= 1M I pd I
ad= UYWAYV (Mandrel)
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' s3 o v 3 A _ = Hq va 3 1
M99 N.8 AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUWTQ§$U18U1
0o a Aa 1 Y = 4
duFoglumna 15000, x 1500w, VnAUsHBRNTEATUIDoNA A msIaTY p=2 Fudveg

Z Y Y o % A Y
LDUNWITVIIUINWNAU 2.00 Y. UUIAALUDUNNTEVIYUINAINUNIN 100U, HUT 4 V.

anam a.d.a. msduldvestulunSnadydead («)
filsznou -
a.dl.a. msduldvesdunsamn (%,)
1781 (T)

kork,o=1 | k ik =05 | k k=02 | k k=01 | k /k,=001 |k /& =0.001
0.001 0.67 0.43 0.24 0.16 0.03 0.01
0.002 1.11 0.72 0.39 0.25 0.05 0.01
0.003 1.49 098 0.52 0.32 0.07 0.01
0.004 1.85 1.23 0.65 0.40 0.09 0.02
0.005 2.20 1.46 0.78 0.47 0.10 0.02
0.006 2.53 1.69 0.90 0.54 0.12 0.02
0.007 2.85 1.92 1.02 0.61 0.13 0.02
0.008 3.16 2.14 1.14 0.68 0.14 0.03
0.009 3.46 2.35 1.26 0.74 0.15 0.03
0.010 3.76 2.57 1.38 0.81 0.16 0.03
0.020 6.54 4.59 2.52 1.47 0.25 0.05
0.030 9.10 6.50 3.61 2.12 0.33 0.07
0.040 11.53 8.32 4.68 2.76 041 0.09
0.050 13.87 10.10 5.73 3.39 0.49 0.11
0.060 16.13 11.83 6.77 4.01 0.57 0.12
0.070 18.33 13.53 7.80 4,63 0.64 0.13
0.080 20.46 15.19 8.81 5.25 0.72 0.14
0.090 22.54 16.82 9.81 5.80 0.80 0.15
0.100 24.56 18.41 10.79 6.46 0.87 0.16
0.200 42,10 32.77 20.10 12.32 1.63 0.25
0.300 55.55 44.59 28.43 17.81 2.39 0.33
0.400 65.88 54.34 35.89 22.96 3.14 0.41
0.500 73.81 62.37 42,58 27.78 3.88 0.49
0.600 79.90 68.99 48.57 32.30 4.62 0.57
0.700 84.57 74.45 53.93 36.54 5.36 0.65




M54 N8 (AD)

81

S =
t= 19

a, d=

1 ' 2
328211932 U UNE T2 U8

I:%(a-v-r[ -1)d)

YUIAVDINDY (Mandrel)

) ) = v = = = = =
. onndu a.ila. maduldvesduluiSnaindead («)
aalszneu -
a1l.a. msduldvesdunsanmn (k)
1781 (T)

koik,=1 |k osk,=05 | ko/k,=02 | ko /k,=00 |k /k,=0.01 |k /k, =0.001
0.800 88.16 78.94 58.73 40.52 6.08 0.73
0.900 90.91 82.65 63.04 4424 6.81 0.81
1.000 93.02 85.70 66.89 47.73 7.52 0.88
2.000 99.50 97.93 88.99 72.62 14.39 1.66
3.000 99.96 99,70 96.34 85.66 20,74 243
4.000 100.00 99.96 98.78 92.49 26.63 3.20
5.000 100.00 99.99 99.60 96.07 32.08 3.95
6.000 100.00 100.00 99.87 97.94 37.12 4,71
7.000 100.00 100.00 99.96 98.92 41.79 545
8.000 100.00 100.00 99.99 99.43 46,11 6.20
9.000 100.00 100.00 100.00 99.70 50.11 6.93
10.000 100.00 100.00 100.00 99.84 53.82 7.66
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' s3 o v 3 A _ = Hq va 3 1
M9 N9 AesIFUANTOARITE I8N IRAY (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUWTQ§$U18U1
0o a Aa 1 Y = 4
duFogiumna 15000, x 1500w, VAUSTHRRNTEATUIDoNA A msIaTY p=2 Fudveg

Z Y Y o % A Y
LDUNWITVIIUINWNU 3.00 Y. UUIOALUDUNNTEVIYUINAINUNINN 100U, HUT 4 V.

dnsam ail.a. maduldvesdvluuSnaindend « )
fMilsznou -
a.il.a. msduldvesdunsaan (%,)
181 (T)

k k=1 | k /k,=05 | k (k=02 | k /k,=01 | k /k,=001 | & /k =0.001
0.001 0.53 0.34 0.18 0.12 0.02 0.00
0.002 0.89 0.59 0.31 0.19 0.04 0.01
0.003 1.22 0.82 0.44 0.26 0.06 0.01
0.004 1.53 1.04 0.56 0.33 0.07 0.01
0.005 1.83 1.25 0.67 0.40 0.08 0.01
0.006 2.11 1.46 0.79 0.46 0.09 0.02
0.007 2.39 1.66 0.90 0.53 0.10 0.02
0.008 2.66 1.86 1.02 0.60 0.10 0.02
0.009 2.93 2.06 1.13 0.66 0.11 0.02
0.010 3.19 225 1.24 0.73 0.12 0.03
0.020 5.64 4.09 231 1.36 0.20 0.04
0.030 7.92 5.83 3.35 1.99 0.28 0.06
0.040 10.10 7.51 437 2.61 0.35 0.07
0.050 12.20 9.14 537 322 0.43 0.08
0.060 14.24 10.74 6.35 3.82 0.51 0.09
0.070 16.23 12.31 7.33 442 0.58 0.10
0.080 18.17 13.84 8.29 5.02 0.66 0.11
0.090 20.06 15.35 9.24 5.61 0.74 0.11
0.100 21.91 16.83 10.18 6.20 0.81 0.12
0.200 38.18 30.27 19.07 11.89 1.57 0.20
0.300 51.06 41.54 27.09 17.23 2.32 0.28
0.400 61.26 50.99 34.30 22.25 3.07 0.36
0.500 69.33 58.91 40.81 26.96 3.81 0.44
0.600 75.72 65.55 46.67 31.39 454 0.51
0.700 80.78 71.12 51.95 35.55 5.27 0.59




M54 N9 (AD)

&3

v 1 = =) o - = =
4 dandu al.a. msduldvesduluudnaAndend k)
alsznou y
a.1l.a. msdaldvesdunaann (£,)
a1 (T)
k. 1k, =1 (k=05 | k. ik =02 | k k=01 | k 7k =001 | k. [k, =0.001
0.800 84.78 75.79 56.70 39.46 6.00 0.67
0.900 87.95 79.70 60.99 43.13 6.72 0.75
1.000 90.46 82.98 64.85 46.58 743 0.83
2.000 99.08 97.08 87.61 71.42 14.27 1.60
3.000 99,91 99.50 95.63 84.71 20.60 2.37
4.000 99.99 99.91 98.46 91.82 26.47 3.14
5.000 100.00 99.99 99.46 95.62 31.90 3.89
6.000 100.00 100.00 99.81 97.66 36.93 4.65
7.000 100.00 100.00 99.93 98.75 41.59 5.39
8.000 100.00 100.00 99.98 99.33 45.90 6.13
9.000 100.00 100.00 99.99 99.64 49.90 6.87
10.000 100.00 100.00 100.00 99.81 53.60 7.60
'I' — (‘h[ .i’
deeq V =
C, = dnlsginimasadizninmnmiy [l
Yipd
28 $oo-ifi i
ceq J; .
. . ” I%(ﬂ*’(['ﬂﬂ')
S=  FLHLHINTENINIOUNIITLNEN &
t= 1701 pd
a, d=VUIAVDAUIVL (Mandrel)
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' s3 o v o 3 A _ = Hq va 3 1
M1 n.10ﬂnﬂﬂimummiaﬂmizmElmmaﬂ (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUVITQi%UTﬂU1
0o a Aa 1 Y = 4
duFogiumna 15000, x 1500w, VAUSTHBRNTEATUIDoNA A5 p=3 Fudvag

Z Y Y o % A Y
LDUNWITVIIUINWNAU 1.00 Y. UUIOALUDUNNTEVIYUINAINUNINN 1000, HUT 4 V.

annau ada. msduldvestuluSnafudend k)
fmilsznou -
a.il.a. msauldvesdunsanmn (k)
1701 (T)

k ok, =1 | k (k=05 | k /k,=02 | k /k =01 | k /k =001 | k [k =0.001
0.001 1.09 0.71 0.40 0.25 0.03 0.01
0.002 1.72 1.11 0.63 0.41 0.07 0.01
0.003 2.26 1.44 0.81 0.53 0.09 0.01
0.004 2.76 1.74 0.97 0.64 0.12 0.02
0.005 3.22 2.02 1.11 0.73 0.15 0.02
0.006 3.66 2.29 1.25 0.81 0.17 0.02
0.007 4.08 2.55 1.38 0.89 0.20 0.03
0.008 449 2.80 1.50 0.97 0.22 0.03
0.009 4.89 3.05 1.63 1.04 0.24 0.03
0.010 5.8 3.29 1.75 1.11 0.26 0.04
0.020 8.84 5.55 2.86 1.75 0.42 0.07
0.030 12.06 7.63 3.90 2.33 0.54 0.10
0.040 15.08 9.62 490 2.89 0.64 0.12
0.050 17.96 11.55 5.89 3.44 0.73 0.15
0.060 20.73 13.43 6.86 3.98 0.81 0.17
0.070 23.40 15.26 7.81 452 0.89 0.20
0.080 25.97 17.05 8.76 5.05 0.97 0.22
0.090 28.45 18.80 9.69 5.58 1.04 0.24
0.100 30.85 20.51 10.62 6.10 111 0.26
0.200 50.82 35.75 19.35 11.19 1.76 0.42
0.300 65.02 48.07 27.24 16.00 2.36 0.54
0.400 75.13 58.03 34.35 20.55 2.95 0.64
0.500 82.31 66.08 40.76 24.85 3.54 0.73
0.600 87.42 72.58 46.55 28.92 4.12 0.81
0.700 91.05 77.84 51.77 32.77 4.70 0.89




M54 n.10 (99)

&5

o v = 9 a a a A =
. onsau a.ala. msdulavesduluuSnaindend («)
fdszneu =
a.d.a. msanlavesaunaann (k)
1721 (T)
k 1k, =1 - Jk,=05 | ko k=02 | k. k=00 | k. /k,=0.01 |k, [k, =0.001
0.800 93.64 82.09 56.49 36.41 5.27 0.97
0.900 95.47 85.52 60.74 39.85 5.84 1.04
1.000 96.78 88.30 64.58 43.11 6.41 1.11
2.000 99.89 98.61 87.33 67.40 11.90 1.76
3.000 100.00 99.83 95.47 81.32 17.07 2.36
4.000 100.00 99,98 98.38 89.29 21.94 2.96
5.000 100.00 100.00 99.42 93.87 26.52 3.55
6.000 100.00 100.00 99.79 96.48 30.83 4.14
7.000 100.00 100.00 99.93 97.99 34.89 4,72
8.000 100.00 100.00 99.97 98.85 38.71 5.30
9.000 100.00 100.00 99.99 99.34 42.30 5.88
10.000 100.00 100,00 100.00 99.62 45.69 6.45
7= (_?’,,r
“eeq
(o 24 Fula=anin13onaIT LN WIUI T
28 Lotk
d('{‘( = -
q ﬂﬁ .
' ' ¥ a(at(p-1)d)
= FTUZWINTEHINIOUNNTZUIEUN _ I:
(= nm ad
a, d= UVUIPVDIUIUY (Mandrel)
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' s3 o v 3 _ = Hq va 3 1
M1 n.11mlﬂﬁlimfmlm‘mﬂmizmammaﬂ (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUVHQi%UTﬂU'I
0o a Aa 1 Y = 4
duFogiumna 15000, x 1500w, VAUSTHBRNTEATUIDoNA A5 p=3 Fudvag

Z Y Y o % A Y
LDUNWITVIIUINWNAU 2.00 Y. UUIAALUDUNNTEVIYUINAINUNIN 100U, HUT 4 V.

onsau a.il.a. msduldvesdnluuinaindend *)
milsznou d
a.ila. msduldvesdunsanmm (k,)
a1 (T)

kotk,=1 | k rk,=05 | k k=02 | k k=00 | & /k,=0.01 |k /&, =0.001
0.001 0.67 0.42 0.24 0.16 0.03 0.00
0.002 1.11 0.69 0.37 0.24 0.05 0.01
0.003 1.49 0.93 0.49 0.31 0.07 0.01
0.004 1.85 1.16 0.60 0.37 0.09 0.01
0.005 2.20 1.38 0.71 0.44 0.10 0.02
0.006 2.53 1.59 0.82 0.49 0.12 0.02
0.007 2.85 1.80 0.92 0.55 0.13 0.02
0.008 3.16 2.00 1.02 0.61 0.14 0.03
0.009 3.46 2.20 1.12 0.66 0.15 0.03
0.010 3.76 2.40 1.22 0.72 0.16 0.03
0.020 6.54 427 2.19 1.26 0.24 0.05
0.030 9.10 6.04 3.12 1.79 031 0.07
0.040 11.53 7.74 4.04 2.31 0.38 0.09
0.050 13.87 9.39 4.94 2.82 0.44 0.10
0.060 16.13 11.01 5.82 3.33 0.50 0.12
0.070 18.33 12.60 6.70 3.84 0.56 0.13
0.080 20.46 14.15 7.57 4.34 0.62 0.14
0.090 22.54 15.68 8.43 4.84 0.68 0.15
0.100 24.56 17.17 9.28 5.34 0.74 0.16
0.200 42.10 30.76 17.38 10.18 1.33 0.24
0.300 55.55 42.11 24.76 14.77 1.91 0.31
0.400 65.88 51.60 31.47 19.13 2.49 0.38
0.500 73.81 59.54 37.59 23.26 3.06 0.44
0.600 79.90 66.17 43.16 27.18 3.64 0.50
0.700 84.57 71.72 48.23 30.90 4.21 0.56
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M54 n.11 (90)

(7] 1 = Y =) =y = = =
4 danaw ala. masuldvestuluuSnaindead *)
mlszney ”
a.al.a. msduldvesdunsann (£,)
12891(T)
k 1k, =1 k /k,=05 | k /k,=02 | k (k=0 | k /k =001 |k /k, =0.001
0.800 88.16 76.36 52.85 34.44 4,77 0.62
0.900 90.91 80.23 57.06 37.79 5.34 0.68
1.000 93.02 83.48 60.89 40.97 5.90 0.74
2.000 99.50 97.24 84.64 65.07 1131 1.34
3.000 99.96 99.54 93.97 79.33 16.42 1.93
4.000 100.00 99.92 97.63 87.77 21.23 2.52
5.000 100.00 99.99 99.07 92.76 25.77 3.10
6.000 100.00 100.00 99.64 95.72 30.04 3.68
7.000 100.00 100.00 99.86 97.47 34.07 426
8.000 100.00 100.00 99.94 98.50 37.86 4.83
9.000 100.00 100.00 99.98 99.11 41.44 5.40
10.000 100.00 100.00 99.99 99.47 4481 5.97
7 (2’,,1 J
d ceq
C, = FulszanEnsondIs L INMNINITI
2 S. IZ(]J-.’ i
d('ﬂt = -
q ﬂ}T ’x
. . 3 Yi(ath-1)d)
§= TETHNTZHINUDUNINTLLI81I 7 I
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a, d=UUIAVDUIVD (Mandrel)
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' s3 o v 3 _ = Hq va 3 1
M1 n.12anE)imf‘Lmmiaﬂmiszlmmaﬂ (U)ﬂﬁﬂ!tLUU%i%@ﬂ@QLLﬂUVITQi%UTﬂUW
0o a a 1 Y a t4
duFogiumna 15000, x 1500w, VAUSBRNTEATUIDoNA A5Gy p=3 Fudvag

Z Y Y o %~ Y
LDUNWIZVIIUINWNU 3.00 Y. UUIOALUDUNNTEVIUINAINUNIN 100U, HUT 4 V.

ansau a.d.a. msduldvesduluuSnadndend «)
fmilsznou i
a.il.a. maduldveshunsamn (,)
1781 (T)

k k=1 | &k /k,=05 | k /k=02 | k /k,=01 |k /k =001 | % /k =0.001
0.001 0.53 0.33 0.18 0.11 0.03 0.00
0.002 0.89 0.56 0.29 0.18 0.04 0.01
0.003 1.22 0.77 0.39 0.24 0.06 0.01
0.004 1.53 0.97 0.50 0.29 0.07 0.01
0.005 1.83 1.17 0.60 0.35 0.08 0.01
0.006 2.11 1.36 0.69 0.40 0.08 0.02
0.007 239 1.55 0.79 0.46 0.09 0.02
0.008 2.66 1.73 0.89 0.51 0.10 0.02
0.009 2.93 1.91 0.98 0.56 0.11 0.02
0.010 3.19 2.09 1.07 0.62 0.12 0.03
0.020 5.64 3.81 1.99 1.14 0.18 0.04
0.030 7.92 543 2.88 1.65 0.24 0.06
0.040 10.10 7.00 3.75 2.15 0.30 0.07
0.050 12.20 8.53 4.61 2.65 0.36 0.08
0.060 14.24 10.03 5.46 3.15 0.42 0.08
0.070 16.23 11.50 6.30 3.64 0.48 0.09
0.080 18.17 12.94 7.14 4.13 0.54 0.10
0.090 20.06 14.36 7.96 4.62 0.60 0.11
0.100 21.91 15.75 8.78 5.11 0.65 0.12
0.200 38.18 28.51 16.56 9.82 1.24 0.18
0.300 51.06 39.33 23.67 1431 1.82 0.24
0.400 61.26 48.52 30.18 18.57 2.40 0.30
0.500 69.33 56.31 36.13 22.62 2.97 0.36
0.600 75.72 62.93 41.58 26.46 3.54 0.42
0.700 80.78 68.54 46.56 30.12 4,11 0.48
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&9

ar 1 = v =) = =Y = =
. sanau a.ila. maduldvesavluuinafndead (k)
aalsznay —
a..a. mswuldvesfunsamn (k)
1781 (T)
k, =1 [k, =05 | k /k, =02 k. /lk,=01 | k, /k,=0.01 |k _/k, =0.001
0.800 84.78 73.30 51.11 33.60 4.67 0.54
0.900 87.95 77.35 55.28 36.90 5.23 0.60
1.000 90.46 80.78 59.09 40.03 5.79 0.66
2.000 99.08 96.28 83.22 63.99 11.18 1.25
3.000 99.91 99.28 93.12 78.38 16.27 1.84
4.000 99.99 99.86 97.18 87.01 21.06 2.43
5.000 100.00 99.97 98.84 92.20 25.58 3.01
6.000 100.00 99.99 99.53 95.32 29.84 3.59
7.000 100.00 100.00 99.81 97.19 33.86 4.17
8.000 100.00 100.00 99.92 98.31 37.64 4.74
9.000 100.00 100.00 99.97 98.99 41.21 5.31
10.000 100.00 100.00 99.99 99.39 4458 5.88
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d_ft’q 82
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' B & Y(at(p-1)d)
S= FEUSHNIEHMUDUNITLUU I
t= 1
a, d= UUINVDULVY (Mandrel)




90

100.00 —§=0-0 408
’/,"./(-':;:J"

90.00 Lo
e
80.00  AEL R B
70.00 FEREP
i N J
J " i
60.00 :
50.00 ] !
o4 s {
TS /
40.00 NN BN '

30.00 : ’ A
A !
L g ‘I .‘: /
20.00 A y
/ 2 {‘/ o -
Ve
10.00 :// e :

(%)
[~

T
=)

SIBUAN DA 1z INGIImaY

or

<

—

<

o

A rrer——
0.001 0.010 0.100 1.000 10.000
alsznounm N,
- - - ksl =0.5
— — kfln =102
[T Ay
— & — il =004

— o — sl = 0001

v o @ "o o - v o 3 ]
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* *

* PROGRAM CONSOLIDATION OF SOIL SOLVE BY FEM -

sk 3k sk sk sk sk sk sk sk sk sk sk sk sk sk sk steske sk sk sk sk skl sk sk ksl sk stk sk ki sk skl sk sk ksl sk sk sk sk skl s ksl sk skl sk skok sk skokoskosk kol skokokoskokokoskkokskk

IMPLICIT double precision(A-H,0-Z)

integer i

PARAMETER (NRMAX=4000, NCMAX=4000, MAXELM=4000, MAXNOD=4000,
1 MAXSPV=3,MAXNX=65, MAXNY=65)

DIMENSION ISPV(MAXSPV,2),VSPV(MAXSPV)

DIMENSION GLF(NRMAX)

DIMENSION GLK(NRMAX NCMAX),GLU(NRMAX)

DIMENSION NOD(MAXELM,9),GLXY(MAXNOD,2),DX(MAXNX),DY(MAXNY)
COMMON/STF/ELF(27),ELK(27,27),ELM(27,27),ELXY(9,2),ELU(27),

1 ELV(27),ELA(27),A1,A2,A3,A4,A5
COMMON/PST/A10,A1X,A1Y,A20,A2X,A2Y,A00,C0,CX,CY,F0.FX FY,

1 C44,C55,AMU,PENLTY

COMMON/PNT/IPDF,IPDR,NIPF,NIPR
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she sk sk she sk sk sk sk sk sk sk sk ste sk sie sk sk sk sie sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk ste sk sieosk sk ske sk sk sk sk sk sk sk sk sk sk sk st stk steokeoskokosiokokoskokokoskoskoskoskosk
* *

* PREPROCESSOR UNIT *

she sk sk sk sk sk sfe sk sk sfe sk sk ste st sie sk sk sk sie sk sk sk sk sk sk sk sk sk sk sk sk sk ste sk sk stk sieosi sieoske sk sk sk sk sk sk sk sk sk sk skeoske skt steotkeoiokoskokokoskokokokokoskskok

Open (1,File='01m150x50p2s1k1.dat',status="unknown')
Write(1,*) 'Ss=1m Ks/KI=1.0 Mandrel150x50 p=2"'
Write(1,*)'  Timefactor %Consolidation’

INTIAL=0

Read finite element mesh information

NPE=4
IEL=1

When MESH is to be generate for rectangular domains, call

MSH2DRectangular

Np=2
Ss=1.0d0
NX=int(Ss*20)
NY=NX
PR =1.0d0
NTIME =50000
DT =0.0001d0
X0=0.0d0
DO 5 I=1,NX
DX(I)=25.0d0
continue
Y 0=0.0d0

DO 6 I=1,NY
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DY (I)=25.0d0

6  continue

CALL MSH2DR (IELNX,NY ,NPE,NNM,NEM,NOD,DX,DY,X0,Y0,GLXY,
* MAXELM,MAXNOD,MAXNX,MAXNY)
NDF=1
NEQ=NNM*NDF
NN=NPE*NDF
C
C  Compute the half bandwidth of global coefficient matrix
C
NHBW=0
DO 20 N=1,NEM
DO 20 I=1,NPE
DO 20 J=1,NPE
NW=(IABS(NOD(N,I)-NOD(N,J))+1)*NDF
IF(NHBW.LT.NW) NHBW=NW

20 continue

C
C  Read specified primary
C
NSPV=3
ISPV(1,1)=1
ISPV(2,1)=NX+2
ISPV(3,1)=NX+2+NX+1
ISPV(1,2)=1
ISPV(2,2)=1
ISPV(3,2)=1
DO 40 I=1,NSPV
VSPV(1)=0.0d0

40 continue
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Read the coefficient of the differential equation modeled

All=A10+A1X*X+ AIY*Y ; A22 = A20 + A2X*X + A2Y*Y ;A00=CONST

Read the necessary data for time-depent problems

NSTP=NTIME+1

INTVL=NTIME
INTIAL=1
ALFA=0.5d0
GAMA=0.5d0
EPSLN=0.0d0
A1=ALFA*DT

A2=(1.0d0-ALFA)*DT

DO 50 I=1,NEQ
GLU(I)=1.0d0
continue

C ##xxx END OF THE DATA IN PUT **x*

C
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C
C  Define the polynomial degree and number of integration points
C

IPDR =IEL

NIPR = IPDR+IEL-1

IPDF = IEL+1

ISTR =IEL

sk sk sk stk ook otk ok sk sk sk sksk st otttk sk kol skosk sk st stttk ok ok sksk sksk sk sk skt stk ok sk k

* PROCESSOR UNIT x

sk sk sk st of ok otk ok sk sk sk sk st otttk sk skl sk sk st stttk sk ok sk sk sksk sk sk skt ok ok skok

aQa O a a

TIME=0.0d0

@)

@)

Counter on number of TIME steps begins here

NT=0

NCOUNT=0

(¢]

Do While(NT .LE. 100000)

¢ 170 NCOUNT=NCOUNT+1

c IF(NCOUNT.GE.NSTP) THEN

c F0=0.0d0

[¢ FX=0.0d0

[¢ FY=0.0d0

c ENDIF

C

C Initialize the global coefficient matrices and vectors matrices
C

DO 180 I=1,NEQ
GLF(1)=0.0d0
DO 180 J=1,NHBW

GLK(I,J)=0.0d0
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180 continue

C
C
C

190

200

(@)

(@)

(@)

Do-loop on the number of ELEMENTS to compute element

DO 250 N=1,NEM

DO 200 [=1,NPE

NI=NOD(N,I)

ELXY(I,1)=GLXY(NIL1)

ELXY(I,2)=GLXY(NIL_2)

LI=(NI-1)*NDF

L=(I-1)*NDF

DO 190 J=1,NDF

LI=LI+1

L=L+1

ELU(L)=GLU(LI)
continue

continue

Call subroutine ELKMFR to compute Element [K] [M] [F]

CALL ELKMFR (Ss,Np,NX,N,PR,NPE,NN)

Compute the element coefficient matricesin transient analysis

CALL TIMER(NN)

ASSEMBLE element matrices to obtain global matrices



DO 240 I=1,NPE

NR=(NOD(N,I)-1)*NDF

DO 240 II=1,NDF
NR=NR+1
L=(I-1)*NDF+II

GLF(NR)=GLF(NR)+ELF(L)

DO 240 J=1,NPE
NCL=(NOD(N,J)-1)*NDF

DO 240 JJ=1,NDF
M=(J-1)*NDF+]J

NC=NCL+JJ+1-NR

IF(NC.GT.0) THEN
GLK(NR,NC)=GLK(NR,NC)+ELK(L,M)
ENDIF

240 continue

250 CONTINUE
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Impose BOUNDARY CONDITIONS on primary and secondry variables

CALL BOUNRY(ISPV.MAXSPV ,NDF,NCMAX,NRMAX,NEQ,NHBW,

* NSPV,GLK,GLF,VSPV)

C  Call subroutine SOLVER to solve the system of algebraic equations

CALL SOLVER(NRMAX,NCMAX,NEQ,NHBW,GLK,GLF)

NT =NT+1
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TIME=TIME+DT
DO 290 I=1,NEQ
GLU(D)=GLF(I)

290 continue

C  Print the solution (i.e.,nodal values of the primary variable)

C

IF(NT.EQ.10)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
/=7P1
Print*,Z
Write(1,*) TIME,Z
ELSEIF(NT .EQ.20)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
/=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.30)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.40)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z

MDF=NDF



ELSEIF(NT .EQ.50)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.60)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.70)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.80)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.90)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.100)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1

Print*,Z
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Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.200)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.300)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.400)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.500)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.600)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.700)THEN

CALL PERC(Ss,NX,NY,GLU,ZP1)



Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.800)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.900)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.1000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
/=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.2000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.3000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z

MDF=NDF
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ELSEIF(NT .EQ.4000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.5000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.6000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.7000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.8000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.9000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1

Print*,Z

114



115

Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.10000)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.20000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.30000)THEN
CALL PERC(SsNX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.40000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.50000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.60000)THEN

CALL PERC(Ss,NX,NY,GLU,ZP1)



C

C

Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.70000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.80000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.90000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
/=7P1
Print*,Z
Write(1,*) TIME,Z
MDF=NDF
ELSEIF(NT .EQ.100000)THEN
CALL PERC(Ss,NX,NY,GLU,ZP1)
Z=7P1
Print*,Z
Write(1,*) TIME,Z

MDF=NDF

ELSE

DO 300 I=1,NNM

[I=NDF*(I-1)+1
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c JJ=II+MDF-1
¢300 continue
¢ 300 WRITE(ITT,950)L,(GLXY(1,J),J=1,2),(GLU(J),J=ILJJ)
c WRITE(TT,940)
END IF

End do

C FORMATS

CLOSE(1)

END

SUBROUTINE BOUNRY(ISPV,MAXSPV,NDF,NCMAX,NRMAX,NEQ,

* NHBW,NSPV,S,SL,VSPV)

The subroutine implements specified values of the primary and

secondry variables by modifying the coefficient matrix

O O a a 0

IMPLICIT double precision(A-H,0-Z)
DIMENSION S(NRMAX,NCMAX),SL(INRMAX),ISPV(MAXSPV,2),VSPV(MAXSPV)

[¢]

COMMON/IO/IN,ITT
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C Implement specified values of the PRIMARY VARIABLES:
C
DO 50 NB=1,NSPV
I[E=(ISPV(NB, 1)-1)*NDF+ISPV(NB,2)
VALUE=VSPV(NB)
IT=NHBW-1
I=IE-NHBW
DO 30 II=1,IT
I=1+1
IF(I.GE.1) THEN
J=IE-I+1
SL(D=SL(I)-S(1,))*VALUE
S(1,7)=0.0d0
ENDIF
30 CONTINUE
S(IE,1)=1.0d0
SL(IE)=VALUE
I=IE
DO 40 [1=2,NHBW
I=1+1
IF(I.LE.NEQ) THEN
SL(D=SL(I)-SUE,I*VALUE
S(IE,I1)=0.0d0
ENDIF
40  CONTINUE
50  CONTINUE
RETURN

END

SUBROUTINE ELKMFR(Ss,Np,NX,N,PR,NPE,NN)

Element calculation based on linear and quadratic rectangular

element
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IMPLICIT double precision(A-H,0-Z)

INTEGER N,NN,Np,NX
COMMON/STF/ELF(27),ELK(27,27),ELM(27,27),ELXY(9,2),ELU(27),

1 ELV(27),ELA(27),A1,A2,A3,A4,AS
COMMON/PST/A10,A1X,A1Y,A20,A2X,A2Y,A00,C0,CX,CY,F0,FXFY,
1 C44,C55,AMU,PENLTY

COMMON/SHP/SF(9),GDSF(2,9)
COMMON/PNT/IPDF.IPDR,NIPF ,NIPR

DIMENSION GAUSPT(5,5),GAUSWT(5,5)

DATA GAUSPT/5*0.0D0, -0.57735027D0, 0.57735027D0, 3*0.0DO0,
2 -0.77459667D0, 0.0D0, 0.77459667D0, 2*0.0D0, -0.86113631D0,
3 -0.33998104D0, 0.33998104D0, 0.86113631D0, 0.0D0, -0.90617984D0,

4 -0.53846931D0,0.0D0,0.53846931D0,0.90617984D0/

DATA GAUSWT/2.0D0, 4*0.0D0, 2*1.0D0, 3*0.0D0, 0.55555555D0,
2 0.88888888D0, 0.55555555D0, 2*0.0D0, 0.34785485D0,
32*%0.65214515D0, 0.34785485D0, 0.0D0, 0.23692688D0,

4 0.47862867D0, 0.56888888D0, 0.47862867D0, 0.23692688D0/

Pi=3.14159265d0
Dceq=2.0d0*Ss*1000.0d0/dsqrt(pi)
NDF = NN/NPE

NET=NPE

Initialize the arrys

DO 120 I=1,NN

ELF(I) =0.0d0

DO 120 J=1,NN
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ELM(LJ)=0.0d0
ELK(L,J)=0.0d0

120  continue

Do loop on numerical(Gauss) integration begin here. Subroutine

SHPRCT is call

O o a a

IPDF =4

DO 200 NI=1,IPDF

DO 200 NJ=1,IPDF

XI = GAUSPT(NLIPDF)
ETA = GAUSPT(NJ,IPDF)

CALL SHPRCT(NPE,XLLETA,DET,ELXY)

CNST = DET*GAUSWT(NLIPDF)*GAUSWT(NJ,IPDF)
X=0.0d0
Y=0.0d0
DO 140 I=1,NPE
X=X+ELXY(,1)*SF(I)
Y=Y+ELXY(1,2)*SF(I)
140 continue
F0=0.0D0
Fx=0.0D0
FY=0.0D0
SOURCE=F0+FX*X+FY*Y
A1X=0.0d0
A1Y=0.0D0
A2X=0.0d0
A2Y=0.0D0
IF(Np .EQ.2) THEN
If((N .GE. 1 ).AND. (N .LE. Np)) then
A10=Dceq**2*PR

A20=Dceq**2*PR
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Al1=A10+AIX*X+AIY*Y
A22=A20+A2X*X+A2Y*Y

elseif((N .GE.(1+NX)) .AND.(N .LE.(Np+NX)))
A10=Dceq**2*PR

A20=Dceq**2*PR

Al1=A10+AIX*X+AIY*Y

A22=A20+A2X*X+A2Y*Y

then

elseif((N .GE.(1+2*NX)) .AND.(N .LE.(Np+2*NX)))then

A10=Dceq**2*PR
A20=Dceq**2*PR
Al1=A10+A1IX*X+ALIY*Y

A22=A20+A2X*X+A2Y*Y

elseif((N .GE.(1+3*NX)) .AND.(N .LE.(Np+3*NX))) then

A10=Dceq**2*PR
A20=Dceq**2*PR
Al1=A10+A1IX*X+ALY*Y
A22=A20+A2X*X+A2Y*Y

else

A10=Dceq**2

A20=Dceq**2
Al1=A10+A1IX*X+ALY*Y
A22=A20+A2X*X+A2Y*Y

Endif

ELSE

If((N .GE. 1 ).AND. (N .LE. Np)) then
A10=Dceq**2*PR
A20=Dceq**2*PR
A11=A10+AIX*X+ATY*Y
A22=A20+A2X*X+A2Y*Y

elseif((N .GE.(1+NX)) .AND.(N .LE.(Np+NX)))
A10=Dceq**2*PR
A20=Dceq**2*PR
A11=A10+A1IX*X+A1Y*Y

A22=A20+A2X*X+A2Y*Y

then
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elseif((N .GE.(1+2*NX)) .AND.(N .LE.(Np+2*NX)))then
A10=Dceq**2*PR

A20=Dceq**2*PR

A11=A10+A1IX*X+A1IY*Y

A22=A20+A2X*X+A2Y*Y

elseif((N .GE.(1+3*NX)) .AND.(N .LE.(Np+3*NX))) then
A10=Dceq**2*PR

A20=Dceq**2*PR

A11=A10+A1IX*X+A1IY*Y

A22=A20+A2X*X+A2Y*Y

elseif((N .GE.(1+4*NX)) .AND.(N .LE.(Np+4*NX))) then
A10=Dceq**2*PR
A20=Dceq**2*PR
A11=A10+A1X*X+A1Y*Y

A22=A20+A2X*X+A2Y*Y

else

A10=Dceq**2
A20=Dceq**2
Al1=A10+A1IX*X+ALY*Y

A22=A20+A2X*X+A2Y*Y

end if
ENDIF

A00=0.0d0

C0=1.0D0
CX=0.0D0
CY=0.0d0
CT=CO+CX*X+CY*Y
=1
DO 180 I=1,NET

JJ=1
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DO 160 J=1,NET
S00=SF(D)*SF(J)*CNST
S11=GDSF(1,[)*GDSF(1,J))*CNST
S22=GDSF(2,1)*GDSF(2,J))*CNST
S12=GDSF(1,1)*GDSF(2,J))*CNST
S21=GDSF(2,)*GDSF(1,J))*CNST

ELK(L,J) = ELK(LJ) + A11*S11 + A22*S22 + A00*S00

ELM(L,J) = ELM(1,J) + CT*S00

JJI=NDF*J+1
160  continue
C
C  Source of the form fx=F0 + FX*X + FY*Y is assumed
C
L=(I-1)*NDF+1
ELF(L) = ELF(L)}+CNST*SF(I)*SOURCE
[I=NDF*I+1
180 continue
200 CONTINUE
RETURN

END

SUBROUTINE MSH2DR(IEL,NX,NY ,NPE,NNM,NEM,NOD,DX,DY,X0,Y0,
1 GLXY ,MAXNEM,MAXNNM,MAXNX,MAXNY)

The subroutine generate arrays [NOD] and [GLXY] for rectangular

Domains.

O OO a a o 0O

IMPLICIT double precision (A-H,0-Z)
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DIMENSION NOD(MAXNEM,9),GLXY(MAXNNM,2),DX(MAXNX),DY(MAXNY)
COMMON/IO/IN,ITT

NEX1 =NX+1
NEY1=NY+1
NXX =IEL*NX
NYY =IEL*NY
NXX1 =NXX+1
NYY1I=NYY+1
NEM =NX*NY
NNM=NXX1*NYY1
C
C RECTANGULAR ELEMENTS
C
Ko=0
NOD(1,1)=1
NOD(1,2) =IEL+1
NOD(1,3) =NYY1+(IEL-1)*NEY I+IEL+1
NOD(1,4) = NOD(1,3)-IEL
IF(NY.GT.1.) THEN
M=1
DO 110 N=2,NX
L=(N-1)*NY + 1
DO 100 I=1,NPE
NOD(L,I) =NOD(M,I) + NYY1 +(IEL-1)*NEY 1+K0*NY
100  continue
M=L
110  continue
ENDIF
IF(NX.GT.1) THEN
DO 140 NI =2,NY
DO 120 I=1,NPE
K1=IEL

NOD(NI,I) = NOD(NI-1,D)+K1
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120  continue
M=NI
DO 140 NJ =2, NX
L =(NJ-1)*NY+NI
DO 130J=1,NPE
NOD(L,J) = NOD(M,J)+NYY I+(IEL-1)*NEY 1+K0*NY
130  continue
M=L
140  continue
ENDIF
c
C  Generate the global coordinates of the nodes
C
DX(NEX1) = 0.0
DY(NEY1)=0.0
XC=X0
YC=Y0
YC=Y0
DO 200 NI =1, NEX1
YC=Y0
I=NYYI*IEL*(NI-1)
DO 190 NJ = 1,NEY1
[=1+1
GLXY(1,1)=XC
GLXY(I,2)=YC
YC=YC+DY(NJ/IEL
190 continue
YC=Yo0
XC = XC + DX(NI)/IEL
200 continue
RETURN

END
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SUBROUTINE SHPRCT(NPE,XLETA,DET,ELXY)

The subroutine evaluates the interpolation functuon (SF(I))
and their derivative with respect to global coordinates
(GDSF(13,))) for LAGRANGE linear&quadratic rectangular element

useing the isoparametric formulation

QO o o o o a a o

IMPLICIT double precision (A-H,0-Z)

DIMENSION ELXY(9,2),XNODE(9,2),DSF(2,9),GJ(2,2),GJINV(2,2)
COMMON/SHP/SF(9) ,GDSF(2,9)

DATA XNODE/-1.0D0,2*1.0D0, -1.0D0,0.0D0,1.0D0,0.0D0,-1.0D0,

* 0.0D0,2*-1.0D0,2*1.0D0,-1.0D0, 0.0D0,1.0D0,2*0.0D0/

FNC(A,B)=A*B

C LINEAR LAGRANGE interpolation function for FOUR-NODE element

DO 10 I= 1,NPE
XP = XNODE(,1)
YP = XNODE(I,2)
XI0 = 1.0d0+XI*XP
ETA0= 1.0d0+ETA*YP
SF(I) = 0.25d0*FNC(XI0,ETA0)
DSF(1,I) = 0.25d0*FNC(XP,ETA0)
DSF(2,1) = 0.25d0*FNC(YP,XI0)
10  continue
C
C  Compute the Jacobian (GJ) and its inverse (GJINV)
C
DO 401=1,2

DO 40J=1,2
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GJ(1,J)=0.0

DO 40 K =1,NPE

GJ(1,J) = GJA,J)+DSF(I,K)*ELXY(K,J)
40 continue

DET = GJ(1,1)*GJ(2,2)-GJ(1,2)*GJ(2,1)

GJINV(1,1) = GJ(2,2)/DET

GJINV(2,2) = GI(1,1)/DET

GJINV(1,2) =-GJ(1,2)/DET

GJINV(2,1) =-GJ(2,1)/DET

Compute the derivatives of the interpolation function

with respect to the global coordinates (x,y):[GDSF]

a a a a

DOs50I=1,2

DO 50 J=1,NPE

GDSF(LJ)=0.0

DO 50K =1,2

GDSF(I,J) = GDSF(I,J) + GJINV(I,LK)*DSF(K.,J)
50 continue

RETURN

END

SUBROUTINE SOLVER(NRM,NCM,NEQNS,NBW ,BAND,RHS)

The subroutine solves a banded, symmetric, system of algebric

equation using the Gauss elimination method

QO o a o o A

IMPLICIT double precision(A-H,0-Z)

DIMENSION BAND(NRM,NCM),RHS(NRM)
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MEQNS=NEQNS-1
DO 30 NPIV=1,MEQNS
NPIVOT=NPIV+1
LSTSUB=NPIV+NBW-1
IF(LSTSUB.GT.NEQNS) THEN
LSTSUB=NEQNS
ENDIF
DO 20 NROW=NPIVOT,LSTSUB
NCOL=NROW-NPIV+1
FACTOR=BAND(NPIV,NCOL)/BAND(NPIV, 1)
DO 10 NCOL=NROW,LSTSUB
ICOL=NCOL-NROW+1
JCOL=NCOL-NPIV+1

BAND(NROW,ICOL)=BAND(NROW,ICOL)-FACTOR*BAND(NPIV,JCOL)

10  continue

RHS(NROW)=RHS(NROW)-FACTOR*RHS(NPIV)

20  continue

30 CONTINUE

C
C
C

Back substitution

DO 90 IJK=2,NEQNS

NPIV=NEQNS-IJK+2

RHS(NPIV)=RHS(NPIV)/BAND(NPIV, 1)

LSTSUB=NPIV-NBW-1

IF(LSTSUB.LT.1) THEN
LSTSUB=1

ENDIF

NPIVOT=NPIV-1

DO 80 JKI=LSTSUB,NPIVOT

NROW=NPIVOT-JKI+LSTSUB

NCOL=NPIV-NROW+1

FACTOR=BAND(NROW,NCOL)

RHS(NROW)=RHS(NROW)-FACTOR*RHS(NPIV)
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90

O O a a o o O
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continue
CONTINUE
RHS(1)=RHS(1)/BAND(1,1)
RETURN
END

SUBROUTINE TIMER(NN)

the subroutine computes the algebric equation associated with
the parabolic differential equations by useing the alfa-family

of approximations

IMPLICIT double precision(A-H,0-Z)

COMMON/STF/ELF(27),ELK(27,27),ELM(27,27),ELXY(9,2),ELU(27),

1 ELV(27),ELA(27),A1,A2,A3,A4,A5

o

20

The alfa-family of time approximation for parabolic equation

DO 20 I=1,NN
SUM=0.0
DO 10 J=1,NN
SUM=SUM-+(ELM(LJ)-A2*ELK(I,J))*ELU(J)
ELK(ILL))=ELM(LJ)+A1*ELK(I,J)
continue
ELF(I)=(A1+A2)*ELF(I)+SUM
continue
RETURN
END
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SUBROUTINE PERC(Ss,NX,NY,GLU,ZP1)
DOUBLE PRECISION GLU,Ss,UZ,ZP1
PARAMETER (NRMAX=3730)
DIMENSION UZ(NRMAX),GLU(NRMAX)

INTEGER 1i1,i2,i3,i4,LINX,NY

Do J=1,NY+1

UZ(=GLU(1+(J-1)*(NX+1))+GLUNX+1+(J-1)*(NX+1))

11=3+(J-1)*(Nx+1)
12=(NX-1)+(-1)*(NX+1)
Do i=il,i2,2
UZ()=UZ(J)+2.0d0*GLU(I)

End do

13=2+(J-1)*(NX+1)
14=NX+(J-1)*(NX+1)

Do i=i3,i4,2
UZ()=UZ(J)+4.0d0*GLU(1)
End do

UzZJ)=Uz(J)*25.0d0/3.0d0

End do

ZP1=UZ(1)+UZ(NY+1)
DO i=3,NY-1,2
ZP1=7ZP1+2.0d0*UZ(1)
End do

Do i=2,NY,2
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ZP1=ZP1+4.0d0*UZ(i)
End do

ZP1=ZP1%*25.0d0/3.0d0

ZP1=(1.0d0-4.0d0*ZP1/(Ss*1000.0d0)**2)*100.0d0

End
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